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NEW QUESTION 1
An organization needs to implement more stringent controls over administrator/root credentials and service accounts. Requirements for the project include:

> Check-in/checkout of credentials
> The ability to use but not know the password
> Automated password changes

> Logging of access to credentials
Which of the following solutions would meet the requirements?

A. OAuth 2.0

B. Secure Enclave

C. A privileged access management system
D. An OpenID Connect authentication system

Answer: D

NEW QUESTION 2
A cybersecurity department purchased o new PAM solution. The team is planning to randomize the service account credentials of the Windows server first. Which
of the following would be the BEST method to increase the security on the Linux server?

A. Randomize the shared credentials

B. Use only guest accounts to connect.

C. Use SSH keys and remove generic passwords
D. Remove all user accounts.

Answer: C

NEW QUESTION 3
A global pandemic is forcing a private organization to close some business units and reduce staffing at others. Which of the following would be BEST to help the
organization’s executives determine the next course of action?

A. An incident response plan
B. A communications plan

C. A disaster recovery plan
D. A business continuity plan

Answer: D

NEW QUESTION 4
A small company that does not have security staff wants to improve its security posture. Which of the following would BEST assist the company?

A. MSSP
B. SOAR
C. laaS

D. PaaS

Answer: B

NEW QUESTION 5

A user recently entered a username and password into a recruiting application website that had been forged to look like the legitimate site Upon investigation, a
security analyst the identifies the following:

* The legitimate websites IP address is 10.1.1.20 and eRecruit local resolves to the IP

 The forged website's |IP address appears to be 10.2.12.99. based on NetFtow records

» AH three at the organization's DNS servers show the website correctly resolves to the legitimate IP

* DNS query logs show one of the three DNS servers returned a result of 10.2.12.99 (cached) at the approximate time of the suspected compromise.

Which of the following MOST likely occurred?

A. A reverse proxy was used to redirect network traffic
B. An SSL strip MITM attack was performed

C. An attacker temporarily pawned a name server

D. An ARP poisoning attack was successfully executed

Answer: B

NEW QUESTION 6

An enterprise has hired an outside security firm to conduct penetration testing on its network and applications. The firm has only been given the documentation
available to the customers of the applications. Which of the following BEST represents the type of testing that will occur?

A. Bug bounty

B. Black-box

C. Gray-box

D. White-box

Answer: A
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NEW QUESTION 7

A financial organization has adopted a new secure, encrypted document-sharing application to help with its customer loan process. Some important Pll needs to
be shared across this new platform, but it is getting blocked by the DLP systems. Which of the following actions will BEST allow the PII to be shared with the
secure application without compromising the organization’s security posture?

A. Configure the DLP policies to allow all PII

B. Configure the firewall to allow all ports that are used by this application

C. Configure the antivirus software to allow the application

D. Configure the DLP policies to whitelist this application with the specific PII
E. Configure the application to encrypt the PlII

Answer: D

NEW QUESTION 8
Which of the following job roles would sponsor data quality and data entry initiatives that ensure business and regulatory requirements are met?

A. The data owner

B. The data processor

C. The data steward

D. The data privacy officer.

Answer: C

NEW QUESTION 9

A security administrator currently spends a large amount of time on common security tasks, such aa report generation, phishing investigations, and user
provisioning and deprovisioning This prevents the administrator from spending time on other security projects. The business does not have the budget to add more
staff members. Which of the following should the administrator implement?

A. DAC

B. ABAC
C. SCAP
D. SOAR

Answer: D

NEW QUESTION 10

Some laptops recently went missing from a locked storage area that is protected by keyless RFID-enabled locks. There is no obvious damage to the physical
space. The security manager identifies who unlocked the door, however, human resources confirms the employee was on vacation at the time of the incident.
Which of the following describes what MOST likely occurred?

A. The employee's physical access card was cloned.
B. The employee is colluding with human resources
C. The employee's biometrics were harvested

D. A criminal used lock picking tools to open the door.

Answer: A

NEW QUESTION 10
A security analyst has received an alert about being sent via email. The analyst’s Chief information Security Officer (CISO) has made it clear that PIl must be
handle with extreme care From which of the following did the alert MOST likely originate?

A. SIMIME
B. DLP

C. IMAP
D. HIDS

Answer: B

NEW QUESTION 11

Select the appropriate attack and remediation from each drop-down list to label the corresponding attack with its remediation.
INSTRUCTIONS

Not all attacks and remediation actions will be used.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.
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Attack Description Target Attack |dentified ~ BEST Preventative or Remediation Action
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B. Not Mastered
Answer: A

Explanation:
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NEW QUESTION 14

To secure an application after a large data breach, an e-commerce site will be resetting all users’ credentials. Which of the following will BEST ensure the site’s

users are not compromised after the reset?

A. A password reuse policy

B. Account lockout after three failed attempts

C. Encrypted credentials in transit

D. A geofencing policy based on login history

Answer: C

NEW QUESTION 15

A network administrator would like to configure a site-to-site VPN utilizing iPSec. The administrator wants the tunnel to be established with data integrity
encryption, authentication and anti- replay functions Which of the following should the administrator use when configuring the VPN?

A. AH

B. EDR
C.ESP

D. DNSSEC

Answer: C

NEW QUESTION 18

A smart retail business has a local store and a newly established and growing online storefront. A recent storm caused a power outage to the business and the
local ISP, resulting in several hours of lost sales and delayed order processing. The business owner now needs to ensure two things:

* Protection from power outages

* Always-available connectivity In case of an outage

The owner has decided to implement battery backups for the computer equipment Which of the following would BEST fulfill the owner's second need?

A. Lease a point-to-point circuit to provide dedicated access.
B. Connect the business router to its own dedicated UPS.
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C. Purchase services from a cloud provider for high availability
D. Replace the business's wired network with a wireless network.

Answer: C

NEW QUESTION 19
A technician needs to prevent data loss in a laboratory. The laboratory is not connected to any external networks. Which of the following methods would BEST
prevent data? (Select TWO)

A. VPN

B. Drive encryption

C. Network firewall

D. File-level encryption
E. USB blocker

F. MFA

Answer: BE

NEW QUESTION 20
An auditor is performing an assessment of a security appliance with an embedded OS that was vulnerable during the last two assessments. Which of the following
BEST explains the appliance’s vulnerable state?

A. The system was configured with weak default security settings.

B. The device uses weak encryption ciphers.

C. The vendor has not supplied a patch for the appliance.

D. The appliance requires administrative credentials for the assessment.

Answer: C

NEW QUESTION 21
In which of the following situations would it be BEST to use a detective control type for mitigation?

A. A company implemented a network load balancer to ensure 99.999% availability of its web application.

B. A company designed a backup solution to increase the chances of restoring services in case of a natural disaster.

C. A company purchased an application-level firewall to isolate traffic between the accounting department and the information technology department.
D. A company purchased an IPS system, but after reviewing the requirements, the appliance was supposed to monitor, not block, any traffic.

E. A company purchased liability insurance for flood protection on all capital assets.

Answer: D

NEW QUESTION 23

A RAT that was used to compromise an organization’s banking credentials was found on a user’'s computer. The RAT evaded antivirus detection. It was installed
by a user who has local administrator rights to the system as part of a remote management tool set. Which of the following recommendations would BEST prevent
this from reoccurring?

A. Create a new acceptable use policy.

B. Segment the network into trusted and untrusted zones.
C. Enforce application whitelisting.

D. Implement DLP at the network boundary.

Answer: C

NEW QUESTION 24
Which of the following algorithms has the SMALLEST key size?

A. DES
B. Twofish
C.RSA
D. AES

Answer: B

NEW QUESTION 25

Which of the following scenarios BEST describes a risk reduction technique?

A. A security control objective cannot be met through a technical change, so the company purchases insurance and is no longer concerned about losses from data
breaches.

B. A security control objective cannot be met through a technical change, so the company implements a policy to train users on a more secure method of
operation.

C. A security control objective cannot be met through a technical change, so the company changes as method of operation

D. A security control objective cannot be met through a technical change, so the Chief Information Officer (CIO) decides to sign off on the risk.

Answer: B

NEW QUESTION 26
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An employee has been charged with fraud and is suspected of using corporate assets. As authorities collect evidence, and to preserve the admissibility of the
evidence, which of the following forensic techniques should be used?

A. Order of volatility
B. Data recovery

C. Chain of custody
D. Non-repudiation

Answer: C

NEW QUESTION 30
A well-known organization has been experiencing attacks from APIs. The organization is concerned that custom malware is being created and emailed into the
company or installed on USB sticks that are dropped in parking lots. Which of the following is the BEST defense against this scenario?

A. Configuring signature-based antivirus io update every 30 minutes

B. Enforcing S/MIME for email and automatically encrypting USB drives upon insertion.
C. Implementing application execution in a sandbox for unknown software.

D. Fuzzing new files for vulnerabilities if they are not digitally signed

Answer: C

NEW QUESTION 32

A network administrator has been asked to design a solution to improve a company's security posture The administrator is given the following, requirements?
* The solution must be inline in the network

* The solution must be able to block known malicious traffic

* The solution must be able to stop network-based attacks

Which of the following should the network administrator implement to BEST meet these requirements?

A. HIDS
B. NIDS
C. HIPS
D. NIPS

Answer: D

NEW QUESTION 36
A public relations team will be taking a group of guest on a tour through the facility of a large e-commerce company. The day before the tour, the company sends
out an email to employees to ensure all whiteboars are cleaned and all desks are cleared. The company is MOST likely trying to protect against.

A. Loss of proprietary information

B. Damage to the company’s reputation
C. Social engineering

D. Credential exposure

Answer: C

NEW QUESTION 41
A recent malware outbreak across a subnet included successful rootkit installations on many PCs, ensuring persistence by rendering remediation efforts
ineffective. Which of the following would BEST detect the presence of a rootkit in the future?

A. FDE
B. NIDS
C. EDR
D. DLP

Answer: C

NEW QUESTION 43

Which of the following is the purpose of a risk register?

A. To define the level or risk using probability and likelihood

B. To register the risk with the required regulatory agencies

C. To identify the risk, the risk owner, and the risk measures

D. To formally log the type of risk mitigation strategy the organization is using
Answer: C

NEW QUESTION 45
A security administrator checks the table of a network switch, which shows the following output:

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM SY0-601 Dumps From Exambible
exam blb|@ https://www.exambible.com/SY0-601-exam/ (218 Q&AS)

Which of the following is happening to this switch?

A. MAC Flooding
B. DNS poisoning
C. MAC cloning

D. ARP poisoning

Answer: A

NEW QUESTION 49
A company's Chief Information Office (CIO) is meeting with the Chief Information Security Officer (CISO) to plan some activities to enhance the skill levels of the
company's developers. Which of the following would be MOST suitable for training the developers'?

A. A capture-the-flag competition
B. A phishing simulation

C. Physical security training

D. Baste awareness training

Answer: B

NEW QUESTION 51
An organization suffered an outage and a critical system took 90 minutes to come back online. Though there was no data loss during the outage, the expectation
was that the critical system would be available again within 60 minutes Which of the following is the 60-minute expectation an example of:

A. MTBF
B. RPO
C. MTTR
D. RTO

Answer: D

NEW QUESTION 54
A security administrator suspects an employee has been emailing proprietary information to a competitor. Company policy requires the administrator to capture an
exact copy of the employee’s hard disk. Which of the following should the administrator use?

A. dd

B. chmod
C. dnsenum
D. logger

Answer: A

NEW QUESTION 55
A cybersecurity analyst needs to implement secure authentication to third-party websites without users’ passwords. Which of the following would be the BEST way
to achieve this objective?

A. OAuth
B. SSO
C. SAML
D. PAP

Answer: C

NEW QUESTION 57

Which of the following policies would help an organization identify and mitigate potential single points of failure in the company’s IT/security operations?
A. Least privilege

B. Awareness training

C. Separation of duties

D. Mandatory vacation

Answer: C

NEW QUESTION 60

Employees are having issues accessing the company's website. Some employees report very slow performance, while others cannot the website at all. The web
and security administrators search the logs and find millions of half-open connections to port 443 on the web server. Further analysis reveals thousands of different
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source IPs initiating this traffic. Which of the following attacks is MOST likely occurring?

A. DDoS

B. Man-in-the-middle
C. MAC flooding

D. Domain hijacking

Answer: A

NEW QUESTION 62
Which of the following disaster recovery tests is The LEAST time-consuming for the disaster recovery team?

A. Tabletop

B. Parallel

C. Full interruption
D. Simulation

Answer: D

NEW QUESTION 65
A network administrator has been asked to install an IDS to improve the security posture of an organization. Which of the following control types is an IDS?

A. Corrective

B. Physical

C. Detective

D. Administrative

Answer: C

NEW QUESTION 69

A security analyst is reviewing a new website that will soon be made publicly available. The analyst sees the following in the URL:
http://dev-site.comptia.org/home/show.php?session|D=77276554&loc=us

The analyst then sends an internal user a link to the new website for testing purposes, and when the user clicks the link, the analyst is able to browse the website
with the following URL:

http://dev-site.comptia.org/home/show.php?sessionID=98988475&loc=us Which of the following application attacks is being tested?

A. Pass-the-hash

B. Session replay

C. Object deference

D. Cross-site request forgery

Answer: B

NEW QUESTION 73
Local guidelines require that all information systems meet a minimum-security baseline to be compliant. Which of the following can security administrators use to
assess their system configurations against the baseline?

A. SOAR playbook

B. Security control matrix

C. Risk management framework
D. Benchmarks

Answer: D

NEW QUESTION 78
A security analyst is investigation an incident that was first reported as an issue connecting to network shares and the internet, While reviewing logs and tool
output, the analyst sees the following:

- —— Iy -

Which of the following attacks has occurred?

A. IP conflict

B. Pass-the-hash

C. MAC flooding

D. Directory traversal
E. ARP poisoning

Answer: E
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NEW QUESTION 79
Which of the following are requirements that must be configured for PCI DSS compliance? (Select TWO).

A. Testing security systems and processes regularly

B. Installing and maintaining a web proxy to protect cardholder data
C. Assigning a unique ID to each person with computer access

D. Encrypting transmission of cardholder data across private networks
E. Benchmarking security awareness training for contractors

F. Using vendor-supplied default passwords for system passwords

Answer: BD

NEW QUESTION 83
A security analyst is reviewing information regarding recent vulnerabilities. Which of the following will the analyst MOST likely consult to validate which platforms
have been affected?

A. OSINT
B. SIEM
C. CVSS
D. CVE

Answer: D

NEW QUESTION 85
Which of the following will MOST likely adversely impact the operations of unpatched traditional programmable-logic controllers, running a back-end LAMP server
and OT systems with human-management interfaces that are accessible over the Internet via a web interface? (Choose two.)

A. Cross-site scripting

B. Data exfiltration

C. Poor system logging

D. Weak encryption

E. SQL injection

F. Server-side request forgery

Answer: DF

NEW QUESTION 90
Which of the following allows for functional test data to be used in new systems for testing and training purposes to protect the read data?

A. Data encryption

B. Data masking

C. Data deduplication
D. Data minimization

Answer: B

NEW QUESTION 94
A company recently moved sensitive videos between on-premises. Company-owned websites. The company then learned the videos had been uploaded and
shared to the internet. Which of the following would MOST likely allow the company to find the cause?

A. Checksums

B. Watermarks

C. Oder of volatility

D. A log analysis

E. A right-to-audit clause

Answer: D

NEW QUESTION 97
An incident response technician collected a mobile device during an investigation. Which of the following should the technician do to maintain chain of custody?

A. Document the collection and require a sign-off when possession changes.

B. Lock the device in a safe or other secure location to prevent theft or alteration.
C. Place the device in a Faraday cage to prevent corruption of the data.

D. Record the collection in a blockchain-protected public ledger.

Answer: A

NEW QUESTION 98
Which of the following would be BEST to establish between organizations that have agreed cooperate and are engaged in early discussion to define the
responsibilities of each party, but do not want to establish a contractually binding agreement?

A. An SLA
B. AnNDA
C. ABPA

D. AnMOU
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Answer: D

NEW QUESTION 101

While checking logs, a security engineer notices a number of end users suddenly downloading files with the .t ar.gz extension. Closer examination of the files
reveals they are PE32 files. The end users state they did not initiate any of the downloads. Further investigation reveals the end users all clicked on an external
email containing an infected MHT file with an href link a week prior. Which of the following is MOST likely occurring?

A. A RAT was installed and is transferring additional exploit tools.

B. The workstations are beaconing to a command-and-control server.
C. Alogic bomb was executed and is responsible for the data transfers.
D. A fireless virus is spreading in the local network environment.

Answer: A

NEW QUESTION 105
An organization hired a consultant to assist with an active attack, and the consultant was able to identify the compromised accounts and computers. Which of the
following is the consultant MOST likely to recommend to prepare for eradication?

A. Quarantining the compromised accounts and computers, only providing them with network access

B. Segmenting the compromised accounts and computers into a honeynet so as to not alert the attackers.
C. Isolating the compromised accounts and computers, cutting off all network and internet access.

D. Logging off and deleting the compromised accounts and computers to eliminate attacker access.

Answer: B

NEW QUESTION 109
A network engineer needs to create a plan for upgrading the wireless infrastructure in a large office Priority must be given to areas that are currently experiencing
latency and connection issues. Which of the following would be the BEST resource for determining the order of priority?

A. Nmapn

B. Heat maps

C. Network diagrams
D. Wireshark

Answer: C

NEW QUESTION 113
A security analyst discovers that a company username and password database was posted on an internet forum. The username and passwords are stored in plan
text. Which of the following would mitigate the damage done by this type of data exfiltration in the future?

A. Create DLP controls that prevent documents from leaving the network
B. Implement salting and hashing

C. Configure the web content filter to block access to the forum.

D. Increase password complexity requirements

Answer: A

NEW QUESTION 116
An end user reports a computer has been acting slower than normal for a few weeks. During an investigation, an analyst determines the system is sending the
user's email address and a ten-digit number to an IP address once a day. The only recent log entry regarding the user's computer is the following:

B wrasm §

Which of the following is the MOST likely cause of the issue?

A. The end user purchased and installed a PUP from a web browser
B. A bot on the computer is brute forcing passwords against a website
C. A hacker is attempting to exfiltrate sensitive data

D. Ransomware is communicating with a command-and-control server.

Answer: A

NEW QUESTION 118
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NEW QUESTION 1
An organization needs to implement more stringent controls over administrator/root credentials and service accounts. Requirements for the project include:

> Check-in/checkout of credentials
> The ability to use but not know the password
> Automated password changes

> Logging of access to credentials
Which of the following solutions would meet the requirements?

A. OAuth 2.0

B. Secure Enclave

C. A privileged access management system
D. An OpenID Connect authentication system

Answer: D

NEW QUESTION 2
A cybersecurity department purchased o new PAM solution. The team is planning to randomize the service account credentials of the Windows server first. Which
of the following would be the BEST method to increase the security on the Linux server?

A. Randomize the shared credentials

B. Use only guest accounts to connect.

C. Use SSH keys and remove generic passwords
D. Remove all user accounts.

Answer: C

NEW QUESTION 3
A global pandemic is forcing a private organization to close some business units and reduce staffing at others. Which of the following would be BEST to help the
organization’s executives determine the next course of action?

A. An incident response plan
B. A communications plan

C. A disaster recovery plan
D. A business continuity plan

Answer: D

NEW QUESTION 4
A small company that does not have security staff wants to improve its security posture. Which of the following would BEST assist the company?

A. MSSP
B. SOAR
C. laaS

D. PaaS

Answer: B

NEW QUESTION 5

A user recently entered a username and password into a recruiting application website that had been forged to look like the legitimate site Upon investigation, a
security analyst the identifies the following:

* The legitimate websites IP address is 10.1.1.20 and eRecruit local resolves to the IP

 The forged website's |IP address appears to be 10.2.12.99. based on NetFtow records

» AH three at the organization's DNS servers show the website correctly resolves to the legitimate IP

* DNS query logs show one of the three DNS servers returned a result of 10.2.12.99 (cached) at the approximate time of the suspected compromise.

Which of the following MOST likely occurred?

A. A reverse proxy was used to redirect network traffic
B. An SSL strip MITM attack was performed

C. An attacker temporarily pawned a name server

D. An ARP poisoning attack was successfully executed

Answer: B

NEW QUESTION 6

An enterprise has hired an outside security firm to conduct penetration testing on its network and applications. The firm has only been given the documentation
available to the customers of the applications. Which of the following BEST represents the type of testing that will occur?

A. Bug bounty

B. Black-box

C. Gray-box

D. White-box

Answer: A
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NEW QUESTION 7

A financial organization has adopted a new secure, encrypted document-sharing application to help with its customer loan process. Some important Pll needs to
be shared across this new platform, but it is getting blocked by the DLP systems. Which of the following actions will BEST allow the PII to be shared with the
secure application without compromising the organization’s security posture?

A. Configure the DLP policies to allow all PII

B. Configure the firewall to allow all ports that are used by this application

C. Configure the antivirus software to allow the application

D. Configure the DLP policies to whitelist this application with the specific PII
E. Configure the application to encrypt the PlII

Answer: D

NEW QUESTION 8
Which of the following job roles would sponsor data quality and data entry initiatives that ensure business and regulatory requirements are met?

A. The data owner

B. The data processor

C. The data steward

D. The data privacy officer.

Answer: C

NEW QUESTION 9

A security administrator currently spends a large amount of time on common security tasks, such aa report generation, phishing investigations, and user
provisioning and deprovisioning This prevents the administrator from spending time on other security projects. The business does not have the budget to add more
staff members. Which of the following should the administrator implement?

A. DAC

B. ABAC
C. SCAP
D. SOAR

Answer: D

NEW QUESTION 10

Some laptops recently went missing from a locked storage area that is protected by keyless RFID-enabled locks. There is no obvious damage to the physical
space. The security manager identifies who unlocked the door, however, human resources confirms the employee was on vacation at the time of the incident.
Which of the following describes what MOST likely occurred?

A. The employee's physical access card was cloned.
B. The employee is colluding with human resources
C. The employee's biometrics were harvested

D. A criminal used lock picking tools to open the door.

Answer: A

NEW QUESTION 10
A security analyst has received an alert about being sent via email. The analyst’s Chief information Security Officer (CISO) has made it clear that PIl must be
handle with extreme care From which of the following did the alert MOST likely originate?

A. SIMIME
B. DLP

C. IMAP
D. HIDS

Answer: B

NEW QUESTION 11

Select the appropriate attack and remediation from each drop-down list to label the corresponding attack with its remediation.
INSTRUCTIONS

Not all attacks and remediation actions will be used.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.
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Attack Description Target Attack |dentified ~ BEST Preventative or Remediation Action
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B. Not Mastered
Answer: A
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NEW QUESTION 14

To secure an application after a large data breach, an e-commerce site will be resetting all users’ credentials. Which of the following will BEST ensure the site’s

users are not compromised after the reset?

A. A password reuse policy

B. Account lockout after three failed attempts

C. Encrypted credentials in transit

D. A geofencing policy based on login history

Answer: C

NEW QUESTION 15

A network administrator would like to configure a site-to-site VPN utilizing iPSec. The administrator wants the tunnel to be established with data integrity
encryption, authentication and anti- replay functions Which of the following should the administrator use when configuring the VPN?

A. AH

B. EDR
C.ESP

D. DNSSEC

Answer: C

NEW QUESTION 18

A smart retail business has a local store and a newly established and growing online storefront. A recent storm caused a power outage to the business and the
local ISP, resulting in several hours of lost sales and delayed order processing. The business owner now needs to ensure two things:

* Protection from power outages

* Always-available connectivity In case of an outage

The owner has decided to implement battery backups for the computer equipment Which of the following would BEST fulfill the owner's second need?

A. Lease a point-to-point circuit to provide dedicated access.
B. Connect the business router to its own dedicated UPS.

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM SY0-601 Dumps From Exambible
exam blb|@ https://www.exambible.com/SY0-601-exam/ (218 Q&AS)

C. Purchase services from a cloud provider for high availability
D. Replace the business's wired network with a wireless network.

Answer: C

NEW QUESTION 19
A technician needs to prevent data loss in a laboratory. The laboratory is not connected to any external networks. Which of the following methods would BEST
prevent data? (Select TWO)

A. VPN

B. Drive encryption

C. Network firewall

D. File-level encryption
E. USB blocker

F. MFA

Answer: BE

NEW QUESTION 20
An auditor is performing an assessment of a security appliance with an embedded OS that was vulnerable during the last two assessments. Which of the following
BEST explains the appliance’s vulnerable state?

A. The system was configured with weak default security settings.

B. The device uses weak encryption ciphers.

C. The vendor has not supplied a patch for the appliance.

D. The appliance requires administrative credentials for the assessment.

Answer: C

NEW QUESTION 21
In which of the following situations would it be BEST to use a detective control type for mitigation?

A. A company implemented a network load balancer to ensure 99.999% availability of its web application.

B. A company designed a backup solution to increase the chances of restoring services in case of a natural disaster.

C. A company purchased an application-level firewall to isolate traffic between the accounting department and the information technology department.
D. A company purchased an IPS system, but after reviewing the requirements, the appliance was supposed to monitor, not block, any traffic.

E. A company purchased liability insurance for flood protection on all capital assets.

Answer: D

NEW QUESTION 23

A RAT that was used to compromise an organization’s banking credentials was found on a user’'s computer. The RAT evaded antivirus detection. It was installed
by a user who has local administrator rights to the system as part of a remote management tool set. Which of the following recommendations would BEST prevent
this from reoccurring?

A. Create a new acceptable use policy.

B. Segment the network into trusted and untrusted zones.
C. Enforce application whitelisting.

D. Implement DLP at the network boundary.

Answer: C

NEW QUESTION 24
Which of the following algorithms has the SMALLEST key size?

A. DES
B. Twofish
C.RSA
D. AES

Answer: B

NEW QUESTION 25

Which of the following scenarios BEST describes a risk reduction technique?

A. A security control objective cannot be met through a technical change, so the company purchases insurance and is no longer concerned about losses from data
breaches.

B. A security control objective cannot be met through a technical change, so the company implements a policy to train users on a more secure method of
operation.

C. A security control objective cannot be met through a technical change, so the company changes as method of operation

D. A security control objective cannot be met through a technical change, so the Chief Information Officer (CIO) decides to sign off on the risk.

Answer: B

NEW QUESTION 26
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An employee has been charged with fraud and is suspected of using corporate assets. As authorities collect evidence, and to preserve the admissibility of the
evidence, which of the following forensic techniques should be used?

A. Order of volatility
B. Data recovery

C. Chain of custody
D. Non-repudiation

Answer: C

NEW QUESTION 30
A well-known organization has been experiencing attacks from APIs. The organization is concerned that custom malware is being created and emailed into the
company or installed on USB sticks that are dropped in parking lots. Which of the following is the BEST defense against this scenario?

A. Configuring signature-based antivirus io update every 30 minutes

B. Enforcing S/MIME for email and automatically encrypting USB drives upon insertion.
C. Implementing application execution in a sandbox for unknown software.

D. Fuzzing new files for vulnerabilities if they are not digitally signed

Answer: C

NEW QUESTION 32

A network administrator has been asked to design a solution to improve a company's security posture The administrator is given the following, requirements?
* The solution must be inline in the network

* The solution must be able to block known malicious traffic

* The solution must be able to stop network-based attacks

Which of the following should the network administrator implement to BEST meet these requirements?

A. HIDS
B. NIDS
C. HIPS
D. NIPS

Answer: D

NEW QUESTION 36
A public relations team will be taking a group of guest on a tour through the facility of a large e-commerce company. The day before the tour, the company sends
out an email to employees to ensure all whiteboars are cleaned and all desks are cleared. The company is MOST likely trying to protect against.

A. Loss of proprietary information

B. Damage to the company’s reputation
C. Social engineering

D. Credential exposure

Answer: C

NEW QUESTION 41
A recent malware outbreak across a subnet included successful rootkit installations on many PCs, ensuring persistence by rendering remediation efforts
ineffective. Which of the following would BEST detect the presence of a rootkit in the future?

A. FDE
B. NIDS
C. EDR
D. DLP

Answer: C

NEW QUESTION 43

Which of the following is the purpose of a risk register?

A. To define the level or risk using probability and likelihood

B. To register the risk with the required regulatory agencies

C. To identify the risk, the risk owner, and the risk measures

D. To formally log the type of risk mitigation strategy the organization is using
Answer: C

NEW QUESTION 45
A security administrator checks the table of a network switch, which shows the following output:
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Which of the following is happening to this switch?

A. MAC Flooding
B. DNS poisoning
C. MAC cloning

D. ARP poisoning

Answer: A

NEW QUESTION 49
A company's Chief Information Office (CIO) is meeting with the Chief Information Security Officer (CISO) to plan some activities to enhance the skill levels of the
company's developers. Which of the following would be MOST suitable for training the developers'?

A. A capture-the-flag competition
B. A phishing simulation

C. Physical security training

D. Baste awareness training

Answer: B

NEW QUESTION 51
An organization suffered an outage and a critical system took 90 minutes to come back online. Though there was no data loss during the outage, the expectation
was that the critical system would be available again within 60 minutes Which of the following is the 60-minute expectation an example of:

A. MTBF
B. RPO
C. MTTR
D. RTO

Answer: D

NEW QUESTION 54
A security administrator suspects an employee has been emailing proprietary information to a competitor. Company policy requires the administrator to capture an
exact copy of the employee’s hard disk. Which of the following should the administrator use?

A. dd

B. chmod
C. dnsenum
D. logger

Answer: A

NEW QUESTION 55
A cybersecurity analyst needs to implement secure authentication to third-party websites without users’ passwords. Which of the following would be the BEST way
to achieve this objective?

A. OAuth
B. SSO
C. SAML
D. PAP

Answer: C

NEW QUESTION 57

Which of the following policies would help an organization identify and mitigate potential single points of failure in the company’s IT/security operations?
A. Least privilege

B. Awareness training

C. Separation of duties

D. Mandatory vacation

Answer: C

NEW QUESTION 60

Employees are having issues accessing the company's website. Some employees report very slow performance, while others cannot the website at all. The web
and security administrators search the logs and find millions of half-open connections to port 443 on the web server. Further analysis reveals thousands of different
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source IPs initiating this traffic. Which of the following attacks is MOST likely occurring?

A. DDoS

B. Man-in-the-middle
C. MAC flooding

D. Domain hijacking

Answer: A

NEW QUESTION 62
Which of the following disaster recovery tests is The LEAST time-consuming for the disaster recovery team?

A. Tabletop

B. Parallel

C. Full interruption
D. Simulation

Answer: D

NEW QUESTION 65
A network administrator has been asked to install an IDS to improve the security posture of an organization. Which of the following control types is an IDS?

A. Corrective

B. Physical

C. Detective

D. Administrative

Answer: C

NEW QUESTION 69

A security analyst is reviewing a new website that will soon be made publicly available. The analyst sees the following in the URL:
http://dev-site.comptia.org/home/show.php?session|D=77276554&loc=us

The analyst then sends an internal user a link to the new website for testing purposes, and when the user clicks the link, the analyst is able to browse the website
with the following URL:

http://dev-site.comptia.org/home/show.php?sessionID=98988475&loc=us Which of the following application attacks is being tested?

A. Pass-the-hash

B. Session replay

C. Object deference

D. Cross-site request forgery

Answer: B

NEW QUESTION 73
Local guidelines require that all information systems meet a minimum-security baseline to be compliant. Which of the following can security administrators use to
assess their system configurations against the baseline?

A. SOAR playbook

B. Security control matrix

C. Risk management framework
D. Benchmarks

Answer: D

NEW QUESTION 78
A security analyst is investigation an incident that was first reported as an issue connecting to network shares and the internet, While reviewing logs and tool
output, the analyst sees the following:

- —— Iy -

Which of the following attacks has occurred?

A. IP conflict

B. Pass-the-hash

C. MAC flooding

D. Directory traversal
E. ARP poisoning

Answer: E
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NEW QUESTION 79
Which of the following are requirements that must be configured for PCI DSS compliance? (Select TWO).

A. Testing security systems and processes regularly

B. Installing and maintaining a web proxy to protect cardholder data
C. Assigning a unique ID to each person with computer access

D. Encrypting transmission of cardholder data across private networks
E. Benchmarking security awareness training for contractors

F. Using vendor-supplied default passwords for system passwords

Answer: BD

NEW QUESTION 83
A security analyst is reviewing information regarding recent vulnerabilities. Which of the following will the analyst MOST likely consult to validate which platforms
have been affected?

A. OSINT
B. SIEM
C. CVSS
D. CVE

Answer: D

NEW QUESTION 85
Which of the following will MOST likely adversely impact the operations of unpatched traditional programmable-logic controllers, running a back-end LAMP server
and OT systems with human-management interfaces that are accessible over the Internet via a web interface? (Choose two.)

A. Cross-site scripting

B. Data exfiltration

C. Poor system logging

D. Weak encryption

E. SQL injection

F. Server-side request forgery

Answer: DF

NEW QUESTION 90
Which of the following allows for functional test data to be used in new systems for testing and training purposes to protect the read data?

A. Data encryption

B. Data masking

C. Data deduplication
D. Data minimization

Answer: B

NEW QUESTION 94
A company recently moved sensitive videos between on-premises. Company-owned websites. The company then learned the videos had been uploaded and
shared to the internet. Which of the following would MOST likely allow the company to find the cause?

A. Checksums

B. Watermarks

C. Oder of volatility

D. A log analysis

E. A right-to-audit clause

Answer: D

NEW QUESTION 97
An incident response technician collected a mobile device during an investigation. Which of the following should the technician do to maintain chain of custody?

A. Document the collection and require a sign-off when possession changes.

B. Lock the device in a safe or other secure location to prevent theft or alteration.
C. Place the device in a Faraday cage to prevent corruption of the data.

D. Record the collection in a blockchain-protected public ledger.

Answer: A

NEW QUESTION 98
Which of the following would be BEST to establish between organizations that have agreed cooperate and are engaged in early discussion to define the
responsibilities of each party, but do not want to establish a contractually binding agreement?

A. An SLA
B. AnNDA
C. ABPA

D. AnMOU
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Answer: D

NEW QUESTION 101

While checking logs, a security engineer notices a number of end users suddenly downloading files with the .t ar.gz extension. Closer examination of the files
reveals they are PE32 files. The end users state they did not initiate any of the downloads. Further investigation reveals the end users all clicked on an external
email containing an infected MHT file with an href link a week prior. Which of the following is MOST likely occurring?

A. A RAT was installed and is transferring additional exploit tools.

B. The workstations are beaconing to a command-and-control server.
C. Alogic bomb was executed and is responsible for the data transfers.
D. A fireless virus is spreading in the local network environment.

Answer: A

NEW QUESTION 105
An organization hired a consultant to assist with an active attack, and the consultant was able to identify the compromised accounts and computers. Which of the
following is the consultant MOST likely to recommend to prepare for eradication?

A. Quarantining the compromised accounts and computers, only providing them with network access

B. Segmenting the compromised accounts and computers into a honeynet so as to not alert the attackers.
C. Isolating the compromised accounts and computers, cutting off all network and internet access.

D. Logging off and deleting the compromised accounts and computers to eliminate attacker access.

Answer: B

NEW QUESTION 109
A network engineer needs to create a plan for upgrading the wireless infrastructure in a large office Priority must be given to areas that are currently experiencing
latency and connection issues. Which of the following would be the BEST resource for determining the order of priority?

A. Nmapn

B. Heat maps

C. Network diagrams
D. Wireshark

Answer: C

NEW QUESTION 113
A security analyst discovers that a company username and password database was posted on an internet forum. The username and passwords are stored in plan
text. Which of the following would mitigate the damage done by this type of data exfiltration in the future?

A. Create DLP controls that prevent documents from leaving the network
B. Implement salting and hashing

C. Configure the web content filter to block access to the forum.

D. Increase password complexity requirements

Answer: A

NEW QUESTION 116
An end user reports a computer has been acting slower than normal for a few weeks. During an investigation, an analyst determines the system is sending the
user's email address and a ten-digit number to an IP address once a day. The only recent log entry regarding the user's computer is the following:

B wrasm §

Which of the following is the MOST likely cause of the issue?

A. The end user purchased and installed a PUP from a web browser
B. A bot on the computer is brute forcing passwords against a website
C. A hacker is attempting to exfiltrate sensitive data

D. Ransomware is communicating with a command-and-control server.

Answer: A

NEW QUESTION 118
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